il

g
=
s
i

1. ¥¥4
¥4 TENNACRKE A TRV E B R EERS
JEATST KBS THHIT 2 TH 2% 1 05 GBS R O D%

")

2. EBEAR
1) FEF4

2) BITHIRM

TN EERT  Hitsda kil

243 HH B 4Af T4 4H12H°
= Sf THE12H10H

3) &FEtHM

4) FEHBNA

E sz TR R



i
I
St
%lljll
I

W4 | KRR E D E L) BARGIEERS E BB
H H B
THH - T - fER] A7 ¥ & 4 % OB RR
B AT = 1 5, 666, 850
HiHFR A =X 1 5, 666, 850
B Hh AT =X 1 5,666, 850 | LIERICERE=FV VAL DN
TFIRATE A~ DR R 1 =X
[R5 S =4 52V 1 134, 734
[ERES S 52V 1 134, 734
et A X 1 31,734 | it CGEEE - BmAME)
1 =
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 103, 000 %%Eﬁ%&ﬁzﬁk%
1 A
TEE =X 1 5,801, 584
B3Ny = 1 4,518, 416
SR E2V 1 4,518,416
T B SE R = 1 10, 320, 000
— A = 1 2,041,574
EHERAR = 1 1, 998, 800
TR B A = 1 1,499, 800 | TIERABHEI (R
1 =
AR OKBERE EERED
TR EHREL (61D
1 =
SAEE OKTHRA)

-1- E sz TR R



==
=]

m
2
%

W4 | KRR E D E L) BARGIEERS E B FRA
HH —FRA
THH - T - R A7 ¥ & & KA OB AR
EN AR = 1 416,000 | ENEERER (FHI0D
1 =
b2 ~4kg
FENTERE (FR)D
1 =X
ABkg L =
Ty 2 1 83,000 | R AR
1 =X
EiEE ey 2y 1 42,774
RS e X 1 42,774 | kg (SRR E - BmRE)
1 =
HEESHE R+ WEREE = 1 2,041, 574
il =X 1 1, 578, 426
HatS = 1 1,578, 426
— A X 1 3, 620, 000
WAL ER = 1 4,991, 100
WA LB = 1 4,991, 100
L I g 2 1 4,991,100 | & HEf
1 =
BRHAE - HEp
1 =
WA TRV ERICRBT B HahE TS R
1 =
BB R ek S B B ERK
1 =

-2 - E sz TR R



i
S

W4 | KRR E D E L) BARGIEERS E BOES
H H WA TRV E R
THH - T - fER] A7 % 4 % OB ORR
TR REE R
1 =
WEEER
1 X
Heim 52V 572, 920
Him GREHED) =X 135, 420
INBH AR S ERK =X 135, 420 | /ABIR% SRS VER
1 E30
Him G - FHEEES) = 437, 500
A% X 437,500 | THH
1 A
E R = 227,903
R = 227,903
P i =y = 82,903 | k& (FFE - BmAME)
1 =
B R e = 135,000 | R RAIERE
1 =
ZERNEERLE = 10, 000 | EESEERE
1 =
EEEM (ZFOM)smz <) = 5,791, 923
Z DA = 2,996, 224
— R R = 4,731, 853
SERSMA = 13, 520, 000
-3 - E 2wy IR



FEH N

%lljll
I

EHs | EIKRRE LRV Eh BARGE S E i BSiE i
HH B3
HHE « 1Tff - fiihl B fif W& & FH MR N R
SERSMA = 1 27, 460, 000
— 4 —

E sz TR R



